

Lambert Series in the Summation of Reciprocals in Gaussian Fibonacci Sequences

GÜL ÖZKAN KIZILIRMAK , DURSUN TAŞCI* 

Department of Mathematics, Faculty of Sciences, Gazi University, 06500, Ankara, Turkey.

Received: 15-04-2019 • Accepted: 06-06-2019

ABSTRACT. In this paper, we consider infinite sums derived from the reciprocals of the Gaussian Fibonacci numbers. New expressions of these sums are obtained in terms of Lambert series.

2010 AMS Classification: 11B39, 11B83.

Keywords: Gaussian Fibonacci number, reciprocal sum, Lambert series.

1. INTRODUCTION

Classical Fibonacci numbers have been often use in different sciences such as biology, physics and economy. In the literature, there have been many studies on Fibonacci numbers and generalizations, see [1–4, 6, 7, 9, 12]. In [8], Horadam has defined complex Fibonacci numbers and the generalization of the classical Fibonacci numbers to complex numbers, which has given rise to new problems. Also, very interesting relationships and similarities between Fibonacci numbers and Gaussian Fibonacci numbers are given in [11].

For any integer $n \geq 2$, the Gaussian Fibonacci numbers GF_n are defined by

$$GF_0 = i, GF_1 = 1; GF_n = GF_{n-1} + GF_{n-2}. \quad (1.1)$$

The n^{th} Gaussian Fibonacci number is given by the equality

$$GF_n = F_n + iF_{n-1},$$

where i is the imaginary unit which satisfies $i^2 = -1$.

There exist a Binet formula for the Gaussian Fibonacci numbers,

$$GF_n = \gamma\alpha^n + \lambda\beta^n \quad (1.2)$$

where $\alpha = \frac{1+\sqrt{5}}{2}$, $\beta = \frac{1-\sqrt{5}}{2}$, $\gamma = \frac{2\sqrt{5}+(5+\sqrt{5})i}{10}$ and $\lambda = \frac{-2\sqrt{5}+(5-\sqrt{5})i}{10}$.

Here, α and β satisfy the following equations

$$\alpha + \beta = 1, \alpha - \beta = \sqrt{5}, \alpha\beta = -1. \quad (1.3)$$

Recent studies show that there has been an increasing interest on reciprocal sums of the Fibonacci numbers. In [5], Elsner et al. investigated the algebraic relations for reciprocal sums of the Fibonacci numbers. Also, Ohtsuka and

*Corresponding Author

Email addresses: gulozkan@gazi.edu.tr (G. Kizilirmak), dtasci@gazi.edu.tr (D. Taşci)

Nakamura obtained the partial infinite sums of the reciprocals of Fibonacci numbers [13]. Indeed, the floor function has been used in all of the above studies. However, Horadam obtained infinite sums of the reciprocals of Fibonacci numbers and some generalizations by the help of Lambert series in [10].

Now, we recall the definition of Lambert series

$$\sum_{n=1}^{\infty} a_n \frac{x^n}{1-x^n}.$$

More particularly, we speak of the Lambert series and generalized Lambert series respectively,

$$L(x) = \sum_{n=1}^{\infty} \frac{x^n}{1-x^n} \quad \text{and} \quad |x| < 1,$$

$$L(a, x) = \sum_{n=1}^{\infty} \frac{ax^n}{1-ax^n} \quad \text{and} \quad |x| < 1, |ax| < 1.$$

The purpose of this paper is to express the infinite sums

$$\sum_{n=1}^{\infty} \frac{1}{GF_n}, \quad \sum_{n=1}^{\infty} \frac{1}{GF_{2n}} \quad \text{and} \quad \sum_{n=1}^{\infty} \frac{1}{GF_{2n-1}}$$

in terms of Lambert series.

2. INFINITE SUMS OF THE RECIPROCAL OF FIBONACCI NUMBERS

In this section, we first obtain the reciprocal of Gaussian Fibonacci numbers with the help of the Binet formula. Then, we express the infinite sums of these reciprocals in terms of the Lambert series.

Theorem 2.1. *i. If n is even, then*

$$\sum_{n=1}^{\infty} \frac{1}{GF_n} = \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left\{ L\left(i\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta\right) - L\left(-\frac{\lambda}{\gamma}, \beta^2\right) \right\},$$

ii. If n is odd, then

$$\sum_{n=1}^{\infty} \frac{1}{GF_n} = \frac{-\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left\{ L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta\right) - L\left(\frac{\lambda}{\gamma}, \beta^2\right) \right\}.$$

Proof. Firstly, we let n be even. We consider

$$\begin{aligned} \frac{1}{GF_n} &= \frac{1}{\gamma \cdot \alpha^n + \lambda \cdot \beta^n} \\ &= \frac{1}{\gamma \left(\alpha^n + \frac{\lambda}{\gamma} \cdot \beta^n \right)} \\ &= \frac{1}{\gamma} \cdot \frac{\beta^n}{(\alpha\beta)^n + \frac{\lambda}{\gamma} \cdot \beta^{2n}}. \end{aligned}$$

Since n is even, then $(\alpha\beta)^n = (-1)^n = 1$ and therefore,

$$\begin{aligned} \frac{1}{GF_n} &= \frac{1}{\gamma} \cdot \frac{\beta^n}{1 + \frac{\lambda}{\gamma} \cdot \beta^{2n}} \\ &= \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left(\frac{i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n}{1 - i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n} - \frac{\frac{-\lambda}{\gamma} \cdot \beta^{2n}}{1 + \frac{\lambda}{\gamma} \cdot \beta^{2n}} \right). \end{aligned}$$

Thus, we have

$$\sum_{n=1}^{\infty} \frac{1}{GF_n} = \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left(\sum_{n=1}^{\infty} \left(\frac{i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n}{1 - i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n} \right) - \sum_{n=1}^{\infty} \left(\frac{\frac{-\lambda}{\gamma} \cdot \beta^{2n}}{1 + \frac{\lambda}{\gamma} \cdot \beta^{2n}} \right) \right).$$

By the help of Lambert series, we get

$$\sum_{n=1}^{\infty} \frac{1}{GF_n} = \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left\{ L\left(i\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta\right) - L\left(\frac{-\lambda}{\gamma}, \beta^2\right) \right\},$$

where $\left| i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta \right| < 1$, and $\left| \frac{-\lambda}{\gamma} \cdot \beta^2 \right| < 1$.

Secondly, we assume that n is odd. Then, $(\alpha\beta)^n = (-1)^n = -1$. Now, we get

$$\begin{aligned} \frac{1}{GF_n} &= -\frac{1}{\gamma} \cdot \frac{\beta^n}{1 - \frac{\lambda}{\gamma} \cdot \beta^{2n}} \\ &= \frac{-\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left(\frac{\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n}{1 - \frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n} - \frac{\frac{\lambda}{\gamma} \cdot \beta^{2n}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{2n}} \right). \end{aligned}$$

Therefore,

$$\sum_{n=1}^{\infty} \frac{1}{GF_n} = \frac{-\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left(\sum_{n=1}^{\infty} \left(\frac{\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n}{1 - \frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n} \right) - \sum_{n=1}^{\infty} \left(\frac{\frac{\lambda}{\gamma} \cdot \beta^{2n}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{2n}} \right) \right)$$

and we have

$$\sum_{n=1}^{\infty} \frac{1}{GF_n} = \frac{-\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left\{ L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta\right) - L\left(\frac{\lambda}{\gamma}, \beta^2\right) \right\},$$

where $\left| \frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta \right| < 1$, and $\left| \frac{\lambda}{\gamma} \cdot \beta^2 \right| < 1$. □

Theorem 2.2. *The following equality holds:*

$$\sum_{n=1}^{\infty} \frac{1}{GF_{2n}} = \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left\{ L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta^2\right) - L\left(\frac{-\lambda}{\gamma}, \beta^4\right) \right\}.$$

Proof. In the Eqn. (1.2), we consider $2n$ instead of n , then

$$\begin{aligned} \frac{1}{GF_{2n}} &= \frac{1}{\gamma \cdot \alpha^{2n} + \lambda \cdot \beta^{2n}} \\ &= \frac{1}{\gamma \left(\alpha^{2n} + \frac{\lambda}{\gamma} \cdot \beta^{2n} \right)} \\ &= \frac{1}{\gamma} \cdot \frac{\beta^{2n}}{(\alpha\beta)^{2n} + \frac{\lambda}{\gamma} \cdot \beta^{4n}}. \end{aligned}$$

Since $(\alpha\beta)^{2n} = 1$, we have

$$\begin{aligned} \frac{1}{GF_{2n}} &= \frac{1}{\gamma} \cdot \frac{\beta^{2n}}{1 + \frac{\lambda}{\gamma} \cdot \beta^{4n}} \\ &= \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left(\frac{i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^{2n}}{1 - i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^{2n}} - \frac{-\frac{\lambda}{\gamma} \cdot \beta^{4n}}{1 + \frac{\lambda}{\gamma} \cdot \beta^{4n}} \right). \end{aligned}$$

Therefore, we obtain

$$\sum_{n=1}^{\infty} \frac{1}{GF_{2n}} = \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left(\sum_{n=1}^{\infty} \left(\frac{i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^{2n}}{1 - i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^{2n}} \right) - \sum_{n=1}^{\infty} \left(\frac{-\frac{\lambda}{\gamma} \cdot \beta^{4n}}{1 + \frac{\lambda}{\gamma} \cdot \beta^{4n}} \right) \right),$$

which can be written in terms of Lambert series as:

$$\sum_{n=1}^{\infty} \frac{1}{GF_{2n}} = \frac{i\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left\{ L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta^2\right) - L\left(-\frac{\lambda}{\gamma}, \beta^4\right) \right\},$$

where $\left| i\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^2 \right| < 1$, and $\left| -\frac{\lambda}{\gamma} \cdot \beta^4 \right| < 1$. □

Lemma 2.3. We assume α, β, λ and γ are defined as in (1.2). Then,

$$\sum_{n=1}^{\infty} \frac{\beta^{2n-1}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{4n-2}} = \sum_{n=1}^{\infty} \frac{\beta^n}{1 - \frac{\lambda}{\gamma} \cdot \beta^{2n}} - \sum_{n=1}^{\infty} \frac{\beta^{2n}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{4n}}.$$

Theorem 2.4. The following equality holds:

$$\sum_{n=1}^{\infty} \frac{1}{GF_{2n-1}} = -\frac{\sqrt{\gamma}}{\gamma\sqrt{\lambda}} \left\{ L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta\right) + L\left(\frac{\lambda}{\gamma}, \beta^4\right) - L\left(\frac{\lambda}{\gamma}, \beta^2\right) - L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta^2\right) \right\}.$$

Proof. In (1.2), we consider $2n - 1$ instead of n , then

$$\begin{aligned} \frac{1}{GF_{2n-1}} &= \frac{1}{\gamma \cdot \alpha^{2n-1} + \lambda \cdot \beta^{2n-1}} \\ &= \frac{1}{\gamma \left(\alpha^{2n} + \frac{\lambda}{\gamma} \cdot \beta^{2n} \right)} \\ &= \frac{1}{\gamma} \cdot \frac{\beta^{2n-1}}{(\alpha\beta)^{2n-1} + \frac{\lambda}{\gamma} \cdot \beta^{4n-2}}. \end{aligned}$$

Since $(\alpha\beta)^{2n-1} = -1$, we have

$$\frac{1}{GF_{2n-1}} = -\frac{1}{\gamma} \cdot \frac{\beta^{2n-1}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{4n-2}}.$$

Therefore, we get

$$\sum_{n=1}^{\infty} \frac{1}{GF_{2n-1}} = -\frac{1}{\gamma} \cdot \sum_{n=1}^{\infty} \frac{\beta^{2n-1}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{4n-2}}$$

and from the previous Lemma, we get

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{GF_{2n-1}} &= -\frac{1}{\gamma} \cdot \left(\sum_{n=1}^{\infty} \frac{\beta^n}{1 - \frac{\lambda}{\gamma} \cdot \beta^{2n}} - \sum_{n=1}^{\infty} \frac{\beta^{2n}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{4n}} \right) \\ &= -\frac{\sqrt{\gamma}}{\gamma \sqrt{\lambda}} \left(\sum_{n=1}^{\infty} \frac{\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n}{1 - \frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^n} - \sum_{n=1}^{\infty} \frac{\frac{\lambda}{\gamma} \cdot \beta^{2n}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{2n}} - \sum_{n=1}^{\infty} \frac{\frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^{2n}}{1 - \frac{\sqrt{\lambda}}{\sqrt{\gamma}} \cdot \beta^{2n}} + \sum_{n=1}^{\infty} \frac{\frac{\lambda}{\gamma} \cdot \beta^{4n}}{1 - \frac{\lambda}{\gamma} \cdot \beta^{4n}} \right). \end{aligned}$$

By the help of Lambert series, we have

$$\sum_{n=1}^{\infty} \frac{1}{GF_{2n-1}} = -\frac{\sqrt{\gamma}}{\gamma \sqrt{\lambda}} \left\{ L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta\right) + L\left(\frac{\lambda}{\gamma}, \beta^4\right) - L\left(\frac{\lambda}{\gamma}, \beta^2\right) - L\left(\frac{\sqrt{\lambda}}{\sqrt{\gamma}}, \beta^2\right) \right\}.$$

□

3. CONCLUSION

In this work, we studied the reciprocal of Gaussian Fibonacci numbers with the help of the Binet formula. Then, infinite sums of these reciprocals have been expressed in terms of the Lambert series. Our results can be applied to Gaussian Lucas numbers and Gaussian Pell numbers by using a similar method.

CONFLICTS OF INTEREST

The authors declare that there are no conflicts of interest regarding the publication of this article.

REFERENCES

- [1] Berzseny, G., *Gaussian Fibonacci numbers*, Fibonacci Quarterly, **15**(1977), 233–236. [1](#)
- [2] Bilgici, G., *Two generalizations of Lucas sequence*, Applied Mathematics and Computation, **245**(2014), 526–538. [1](#)
- [3] Bolat, C., Köse H., *On the Properties of k-Fibonacci numbers*, Int. J. Contemp. Math. Sciences, **5**(2010), 1097–1105. [1](#)
- [4] Edson, M., Yayenie, O., *A new generalization of Fibonacci sequence and extended binet's formula*, Integers, **9**(2009), 639–654. [1](#)
- [5] Elsner, C., Shimomura, S., Shiokawa I. I., *Algebraic relations for reciprocal sums of Fibonacci numbers*, Acta Arith., **130**(2007), 37–60. [1](#)
- [6] Elsner, C., Shimomura, S., Shiokawa I. I., *Algebraic relations for reciprocal sums of odd terms in Fibonacci numbers*, Ramanujan J., **17**(2008), 429–446. [1](#)
- [7] Falcon, S., Plaza, A., *On the Fibonacci k-numbers*, Chaos Soliton Fract., **32**(2007), 1615–1624. [1](#)
- [8] Falcon, S., *On the k-Lucas numbers*, Int. J. Contemp. Math. Sciences, **6**(2011), 1039–1050. [1](#)
- [9] Horadam, A. F., *Complex Fibonacci numbers and Fibonacci quaternions*, Amer. Math. Monthly, **70**(1963), 289–291. [1](#)
- [10] Horadam, A. F., *Elliptic functions and Lambert series in the summation of reciprocals in certain recurrence-generated sequences*, Fibonacci Quarterly, **26**(1988), 98–114. [1](#)
- [11] Jordan, J.H., *Gaussian Fibonacci and Lucas numbers*, Fibonacci Quarterly, **3**(1965), 315–318. [1](#)
- [12] Koshy, T., *Fibonacci and Lucas Numbers with Applications*, John Wiley & Sons, New York, 2001. [1](#)
- [13] Ohtsuka, H., Nakamura, S., *On the sum of reciprocal Fibonacci numbers*, Fibonacci Quart., **46/47**(2008/2009), 153–159. [1](#)